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1. Mention three distinguished characteristioéﬁiat make man more developed and superior to all other
mammals. ' R (3 mks)
KQ
&)
R
)
<
................................................ Q\)*‘
@
2. A group of Form one\??idents went out to collect organisms for observation. Name the biological
tools the students l%"\éd to collect the following organisms. (3 mks)
: J _ :
a) spiders L e T A5 b ms e e e S
N
2
b) Grasshg@ers
c) CQr%w\ling animals in cracks on buildings ...
3. QWhat is Photosynthesis? - _ ' (1 mk)
2 : : S
&° ;
Q
S
\Y
&
b) i) State how the rate of photosynthesis differs in plants growing in high altitude areas from those
growing in the lowland areas. (1 mk)
ii) Give two reasons for your answer in b (i) above. ' ' (2 mks)
4. a) Mention two ways by which blood capillaries are structurally adapted to perform their functions.
' (2 mks)
b) State twe ways in which the skin naturally protects the human body. | (2 mks)
5. Mention twe roles of aerenchyma tissue in plants. (2 mks)
-6.  a) Differentiate between aerobic and anaerobic respiration. (1 mk)
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b) State two ways by which lactic acid that is fonneél‘% muscles can be removed in the human body.
N

& " (2 mks)
R
5
(g
R
anssnnn ...66 .................................................................................................
N
7. a) State two roles of interphase in Eéﬁ division. (2 mks)
S\
N
----..-&<6.uu : e | .
b) State the significance of Meiosis in cell division. (1 mk)
& _
Q
.................... o & _
8. The diagr@ﬁ? below shows a structure in a flowering plant.
&
2
&°
@
<
\\
&
: a) Identify part labelled P. (1 mk)
b) Explain the changes that take place in the parts labelled P and Q after fertilization. (2 mks)
tyChangesin P o
G, Inhalation in man occurs when the volume of air in the thoracic cavity increases while its pressure

decreases. Explain briefly how the above mentioned changes can_ta_k_c place. (3 mks)
10. Explain the importance of predation in ecosystems. (2 mks)
11. A certain mammal was found to have the following numbers of various teeth in the mouth.

Incisors Canines Pre-molars Molars
Lower jaw 6 2 .4 6
Upper jaw - .. 0 0 6 6
a) Write the dental formula for this animal.
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b) With a reason, state the mode of feeding of thg@nimal. (2 mks)
O
i) Mode of feeding AR e Kiommarensmsnssraesmssoy

i) Reason......... R T RS A S Ut m s snw s ot e S i

(2 mks)

1) RGHION cciscsivintsidasssees 25 emmmnesmmeascomsnns T et O AR

b) State the functions of parts labelled M. (1 mk)

13. State one similarity and one difference between osmosis and diffusion.

a) Similarity ' (1mk)

b) Difference (1 mk)

14. a) Mention functions of the following parts of a light microscope.
i) Fine adjustment knob (1 mk)

ii) Condenser : : (1 mk)

b) State two pfecautions that should be taken when storing a li ght microscope in the laboratory.
(2 mks)
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15. Explain how loss of body heat can be reduced by vgs&orlstriction of blood capillaries in the skin

during cold weather. & ) : (2 mks)
........................................................................... S
L
©
%
.............. ...................................................;éQ---.-uu-----u---u--...........-..-..........4..............................o-.uo-.-..-..
16. a) Explain why members of the phyh@h(’arthropoda arc able to occupy a large variety of habitats.
P (2 mks)
;\\

17. a) Two tall pea plants were crossed and 75% of the offspring were tall while the rest were short.

Using letter (T) to represent gene for tallness, state the genotypes of the parents. (1 mk)

b) What is artificial selection? _ (1 mk)

18. a) What is metamorphosis? (1 mk)
b) What is the biological significance of metamorphosis to an insect. (2 mks)

....................................................................................................................................................................

...................................................................................................................................................................
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19. a) State two functions of Luteinizing hormone dugng the menstrual cycle in the human female.
. QQ} ; (2 mks)
Q’Zr

Q
i

2
b) State the functions of the fol.l\&%ing structures in the umbilical cord in the human female during

pregnancy. §

i) Umbilical artery 6\\ (1 mk)

- - R\
11)Umblhcalvem% (1 mk)
N
<
R

20. In an invegtj@tion, a student collected two plants A and B. Plant A had hairy leaves and few stomata
sunken jppits into the leaf epidermis while leaves of plant B were broad and many stomata on upper
surfa@ nly.

g which habitat would you find;

< ;
A N T ST —————————— LR (1 mk)
<

< b Foend
Y DVBIARE T s i AR oo T oprmrss (1 mk)
S
<
b) What is the significance of hairs on leaves of plant A. (1 mk)

21. State two ways in which nephrons of animals inhabiting dry areas are modified to conserve water.
' (2 mks)

23. A solution of sugar cane was boiled with a small amount of dilute hydrochloric acid and allowed to
cool. Sodium hydrogen carbonate solution was added drop by drop until the fizzing stopped. Few
drops of Benedict’s solution were added to the mixture and boiled. An orange precipitate formed at
the end of the experiment. ' - *

a) What was the role of the following in the experiment?

i) Dilute hydrochloric acid. | (1 mk)
ii) Sodium hydrogen carbonate (1 mk)
b) To which class of carbohydrates does sugar cane belong? | o (1 mk)

...................................................................................................................................................................
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23. The diagrams below show embryos of certaingvertebrate? animals. Examine them and answer the
questions that follow. Q‘ZrQ
X
,bfo
fish tortm&e chick human
™
ag” Q
=)
e\
&
a) Menﬂoryﬁl o observable structural features in these embryos that suggest that they have a common
ancesQii’a origin. (2 mks)

€ e

Q}Q}

Q&.......”.....-..--....-.-------..-...............--............--.-"...---.---..--..................................... sarresassaanan

@g’ b) What phenomenon in organic evolution is being exhibited by these diagrams of the embryos?

(1 mk)
&
24. a) Where in the human body are relay neurones found? (1 mk)
b) State the survival value of these responses in organisms.
1) Phototrophism. (2 mks)
il) Chemotakism (2 mks)

25. State three functions of an exoskeleton in members of the phylum arthropbda. (3 mks)

...................................................................................................................................................................
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26. The diagram below shows a structure obta%q%d from an animal. Examine it and answer the questions
that follow. R
%

a) Ideg;zi@r the structure. (1 mk)
L e
i—@.

Q}@b} Give two reasons for your answer. ' (2 mks)
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